EARAROBEEIERT — 2 N— IBISH —F

2012812828 (H) sEFL2H

R REXA

REEF 4t [HETE] i

‘ [Riz] ¥ ‘ [REBE] — | & (&) 12000 FHE

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
RYSTE HHE—H 13, — . - BIREIE (ER
N - T it 2 e 1(1_3)4 3-2 39.2 8 (4_742) oREE
LA bk—b BFIOX—R7-3 B0
. # 2 | RLRKA 1:13.6 14-13 [ 37.4| — 14 | 424 |EBIRA (EH)
2|5[10| #71AF v >~ 540 (1 1/4) © R —S sy
R:d—IRAfA— B:EILETAX AIE R
2 B s 2 | AAREF 1:13.8 5-4 39.3| — 2 160 | BEB— (EH)
kY 2 j-)lf\?"\”/ 54.0 (1 1/4) (+4) () BR%S
R:T77RVI7 B:ZybhydrLlU— HR4%
N K . _ — REFRA (EH)
4159 E—FZRrYwy 2 O I 1(/71?:? 5-6 39.3 4 (45;3) ﬁméﬁ
RixrvAqO— Fid—d—FAF— BRHS
- BEIR : - — KIFRE (EH
5/8|16| 7Y T —FvAL LA 1(/;135)9 M R 13 (3?2) RR—
RHYIRG4 ISR BT A74T5 2YX Ty —L
Ng— JIHEEE 14, - . - REEER (ER
6 5 93T T X % 2 54.0 1(11/42)0 - .9 s (‘:_8:) %WIE&‘E
w427 B:avIAASUT B —H
SAYEY 4t 2 | Hlgess 1:14.2 12-12 | 38.4| — 5 454 | REE= (EH)
717014 27>V 7 54.0 1 (cay |HOH YzA7-nbse
Ry GRE—N B:TUTES A—L— -4 Ty —LARSE
7 S o 5 o2 | SHE2 1:14.8 9-8 39.8| — 11 460 | ERIERAZ (i)
87|13 7T FAIN=T— 54.0 (31/2) 4g) | HDES
LY IINIF— BTIRIXEVH HET7—L
8 RS B2 | KeEHEE 1:14.9 2-2 40.8| — 7 488 | FIEHE—BR (%)
EHH NILERNTT 54.0 (3/4) +2) (B) XWVELNT7—L
Z:yvarx BRI RUF NIVE N T7—L
N FAisiE 15, = . - FREX (ER
10l112 HATFELH 2 S 1(11/52>0 15-15 38.4 10 (438) Eﬁ%ﬁ
RFAT—IVE BRNAY—TT57 TS
= 4 2 | KEFHRIR 1:15.1 5-7 40.5| — 12 470 | AEE (E#H)
1118]15| 7>¥2 7 54.0 2 E) 2) | (B BiERs
R:Z&Fa—FTUNF4 B:70-UyPa A5
= Sy, A ft 2 | WBBER 1:15.1 8-8 40.2| — 9 462 | NBAR (EH)
NAZTI2T 54.0 (NF) (+g) | BEBHF
Riw>NnNya&rHhTr BRTARTTI— 77— L
N HD#{E . - - NE—F (EH)
TJUN=U3—o 4 2 54% 1.(145).8 10-10 40.6 6 (4520) %Fﬁﬁ
RYISINIS L F— BiaxsH—3 PR
s= N I8 R4t/ . — = V i
TAAHhTZ>>a [B] f 2 | EHK (11.116/.40) 12-14 | 40.3 1 tg? Eé;ﬁ%ﬂ%é&ﬁ)
R:ZY T hA—T7—FK—F BAHvEdLTI> Y FiE  EBA
< [N H & : ~ - KIFE (EA
IVEEZP it 2 o 1.(146).7 15-15 | 40.1 15 (ﬁg) o
x> inAA— BIYETEUT EXarie]
=0 HIEF : - - EFEZ (ER)
X R IN=F 1 B2 & (12.117/.21) 10-10 | 41.9 16 (4_620) e
LYK YIYRIR B/ —RXKy b RSZRRY—T7—L
@ 71 L
) 50.8-39.3
NA>Z4 L | 11.9-10.7-11.5-12.4-13.0-13.9
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x5,11) (12,16) (4,9,15)-3,13(6,7)-(14,8)-10-(1,2)
40—+ — 5(11,12) (4,16)9-15(3,13)-(6,7)14,10-8(1,2)
[ N3
B O 12 2,620/ 714K 10-12 11,820H e E 5-6 2,110H RPEL:] 4-10-12 121,230M
8 B 12 500M 4-12 1,730H B = 10-12 78,040 B 12-10-4 1,335,370M
10 1,550 4-10 3,960 B H 12-10 136,820
4 200M

ABICOVWTRDTEEERROODE. TR LIV,




